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Def: A set has cardinality of continuum if it is equivalent to a set of points on a line.  

 

 

Question: Do the set of points inside a square have bigger cardinality then a set of points on a 

side of this square?  

 

 

Cantor’s proof: 

 
 

 

 

𝑇 = (𝑥, 𝑦) 

𝑥 = 0. 𝑥1𝑥2𝑥3𝑥4 ….                         
𝑦 = 0. 𝑦1𝑦2𝑦3𝑦4 …. 
 

 

𝑧 = 0. 𝑥1𝑦1𝑥2𝑦2𝑥3𝑦3 … .. 
 

 

 

 

 

 

 

Question: Does there exist an “intermediate” set of point – bigger then a countable set, but 

smaller then a continuum?  

 

 

 

 

 

Question: Does there exist a set of points with cardinality bigger then continuum? 
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Cantor’s theorem:  

For any set A, the set of all subsets of A has greater cardinality then the set A itself.  

Proof: 

A – set of elements x 

P(A) – set of all subsets of A  

 

 
 

𝐵 = {𝑥 ∈ 𝐴: 𝑥 ∉ 𝑓 𝑥 } 
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